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1 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00| 000 ~ 472 5888 | Znllst | 000 ~ 472 | 1.81 9.12 zh s 100 500 ~ 5.00 58.88 | #nLlust | 500 ~ 5.00 | 1.81 9.12
9 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 753 96.25 | #nL U4t | 000 ~ 7.53 | 2.03 10.27 Zh Lt 1.00| 500 ~ 10.40 96.25 | ZHLlUst | 500 ~ 1040 | 2.03 10.27
3 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 6.69 8448 | #hbLlst | 000 ~ 6.69| 1.83 9.26 zh s 100 500 ~ 8.20 8448 | #hLlst | 500 ~ 820 | 1.83 9.26
4 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 472 5888 | Zn st | 000 ~ 472 | 1.81 9.12 zh s 100 500 ~ 5.00 58.88 | #nLlust | 500 ~ 5.00 | 1.81 9.12
5 100kN/ m##8 %% — -~ — —|3mEHEZS — ~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
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zh s 1.00| 000 ~ 475 5923 | #hklsk | 000 ~ 0.00 | 1.67 8.47 zh s 100 500 ~ 5.00 5923 | #hLlst | 500 ~ 500 | 1.67 8.47
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100kN/ m##8 %% ~ InEHBZS ~ 100kN/ m##8 %% ~ InEHBZS ~
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